

State of West Virginia
Department of Administration
Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for Quotation

Ţ O

RFQ NUMBER ABATMNT07

1

ADDRESS CORRESPONDENCE TO ATTENTION OF

BETTY FRANCISCO 304-558-0468

MODZEK

Astar Abatement, Inc. P.O. Box 13533 Sissonville, WV 25360

THA CODY

ALL STATE AGENCIES AND POLITICAL SUBDIVISIONS VARIOUS LOCALES AS INDICATED BY ORDER

	TED	TER	MS OF SAL	Æ	SHIP	/IA		F.O:B		FREIGHT TERMS
05/26/										
BID OPENING DATE:	, N. 18 (N. 1917)	07/06/	2006	I Shanca zari		BLD	OPENING	; TIME	01	:30PM
LINE	QUAI	NTITY	UOP	CAT.	ITEM NU	MBER	UI	NIT PRICE		AMOUNT
<u> </u>								<u> </u>	<u> 24.0453.000</u>	
Tourist Assessment and Assessment				-	FOR QUOT					
		BLANKET	E	1	STATEWIDE TOS ABATE		CT FOR			
And the second s	NOTE:				SUE OF AE					
					*NOTICE**					
	ON JUN		2006	AT 60	ETING IS. 1 57TH ST					
	ALL IN THIS M BID CO	TEREST EETING NFEREN	ED BI . FA CE SH	DDERS ILURE ALL R	ARE REQU TO ATTEN ESULT IN	ID THE M AUTOMAT	ANDATOR	Y PRE- UALIFI		
	VENDOR	• •			CAN REPF					
	BIDDER FOR EA	S ARE .CH REG	REQUE ION O	STED N WHI	TO TYPE I	HE PRIC	ING SEC	TIONS		
	EACH O	EE VEN F THE	DORS FOUR	SHALL REGIO	ALIFICATI BE AWARI NS IN THE \$2,500)	ED A CO	NTRACT ACTUA	FOR L		
	THE VE	NDORS	WHO H	AVE B	EEN AWARL RK IS TO	ED CONT	RACTS F	OR THE		
	ATTACH	MENTS:				:				
	1. AB	ATMNT0	7 SPE	CIFIC	ATIONS, E	ATED 5/	22/06,	30 PAG	ES	
			\$ 144 B 8	SEE RE	/EASE SIDE FOR T	ERMS AND CO	I IDITIONS			<u> </u>
SIGNATURE).H	toobiida karimina kilababab		inikalentriisiselelituuriden kaintaateliinikkin kaika	TELEPHONE 301	4-984-	4030	DATE	7-12-06
TITLE PAES	8	FE	^{IN} 55-	073	0985		AD	DRESS CHA	NGES	TO BE NOTED ABOVE
18/11	ENLOCOD	ONDINO "		MOCE	T NIANAE ANID	ADDDECC	NICDACE	ADOVE LA	DELE	יייייייייייייייייייייייייייייייייייייי



State of West Virginia
Department of Administration
Purchasing Division
2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for Guotation ABATMNT07

ABATMNT07

<u> P</u> A	GE 💮
	8

ADDRESS CORRESPONDENCE TO ATTENTION OF: BETTY FRANCISCO

304-558-0468

>EZDOR

RFQ COPY TYPE NAME/ADDRESS HERE

SH-P TO

ALL STATE AGENCIES AND POLITICAL SUBDIVISIONS VARIOUS LOCALES AS INDICATED BY ORDER

<u> </u>	F.O.B. FREIGHT.TERMS
05/26/2006	
	OPENING TIME 01:30PM
LINE QUANTITY UOP CAT STEM NUMBER	UNIT PRICE AMOUNT
THE ENVELOPES OR THE BIDS MAY NOT BE CO	ONSIDERED:
BUYER:	
BID OPENING DATE:07/06/2006	
BID OPENING TIME:1:30 P.M	
PLEASE PROVIDE A FAX NUMBER IN CASE IT TO CONTACT YOU REGARDING YOUR BID:	
contact person (please print clearly):	i li
***** THIS IS THE END OF RFQ ABATMNT	'07 ***** TOTAL:
SEE REVERSE SIDE FOR TERMS AND CONDI	ITIONS
SIGNATURE DA TELEPHONE	DATE
TITLE FEIN	7-12-06
WHEN RESPONDING TO BEO, INSERT NAME AND ADDRESS IN	ADDRESS CHANGES TO BE NOTED ABOVE

100	EMOVAL & DISPOSAL PRICING PAGE - REGIO	- Adminia County						
		Price Per		eruoH				
Oty, in Squart.	Asbestos Removal and Disposal Removal & disposal of glue-down floor tile with	Square Foot	Hourly Rate	Estimate	Total			
1,000.00	mastic	\$ 2,10	131.25	16	\$ 2,10			
1,000.00	Removal & disposal of boiler pipe insulation	\$ 2,30	127.78	18	\$ 2,30			
1,000.00	Removal & disposal of asbestos siding	\$ 1.50	125.00	12	\$ 1,500			
1,000.00	Removal & disposal of ceiling tile	\$ 1.00	125.00	8	\$ 1,00			
		Market						
Mob/De-mob	Mobilization / De/Mobilization	Firm Lump Sun	ı Price		Total			
1	This cost shall be used in any subsequent contract for Region 1	\$ 250	125.00	2	s 250			
		Grand Total	127.68	56	\$ 7,150			
	DER INFORMATION							
ENDOR:A	STAR ABATEMENT, INC.							
ignature:	Roge Pat	Date:	7-12-0	56				
	PORDINATOR INFORMATION	·						
ame: <u>Ro</u> 0		<u></u>						
Address: <u>P.0. βo</u> 13533								
SISSONVILLE, WV 25360								
hone Number:		_						
mail Address:	ROGERPRITT @ VERIZON,	NOT						

Note: Contract holders shall be required to pay prevailing wages for any county in which work is being performed.

		200.000			
Qty. in Sq. F	Asbestos Removal and Disposal	Price Per		Hours	
1,000.00	Removal & disposal of glue-down floor tile with mastic	Square Foot	Hourty Rate	Estimate 	***
1,000.00	Removal & disposal of boiler pipe insulation	\$ 2,30	127.78	18	\$ 2,300
1,000.00	Removal & disposal of asbestos siding	\$ 1,50	125.00	12	\$ 1,500
1,000.00	Removal & disposal of ceiling tile	\$ 1.00	125.00	8	\$ 1.000
······					
Mob/De-mob	Mobilization / De/Mobilization	Firm Lump Sun	Price		Total
1	This cost shall be used in any subsequent contract for Region 2	\$ 275	137,50	٦ ک	\$ 275
		Grand Total	128,12	56	\$ 7,175
ENDOR / BIE	DER INFORMATION				
ENDOR:/	A STAR A BATEMENT, INC.				
ignature:(Rog Pitt	Date:	7-12-	06	
ONTRACTO	DORDINATOR INFORMATION			1.0	10 m
	GER PRITT		·····		······································
	.0. Box 13533	*****			
	SCONVILLE, WV 25360	****			
hone Number		•			
mail Address:	ROGERPRITT D VERIZOI	N.NET			

Note: Contract holders shall be required to pay prevailing wages for any county in which work is being performed.

ASBESTOS RI	EMOVAL & DISPOSAL PRICING PAGE - REGIO	N 3 - Harrison Co	nuntv						
Qty. in Sq. Ft.	Asbestos Removal and Disposal	Price Per Square Foot	Hourly Rate	Hours Estimate	Total				
1,000.00	Removal & disposal of glue-down floor tile with mastic	\$ 2.10	131.25	16	\$ 2,100				
1,000.00	Removal & disposal of boiler pipe insulation	\$ 2.30	127.78	18	\$ 2,300				
1,000.00	Removal & disposal of asbestos siding	\$ 1,50	125.00	12	\$ 1,500				
1,000.00	Removal & disposal of ceiling tile	\$ 1,00	125.00	පු	\$ 1,000				
Mob/De-mob	Mobilization / De/Mobilization	Firm Lump Sun	Price		Total				
1	This cost shall be used in any subsequent contract for Region 3	\$ 350	116.67	3	\$ 350				
		Grand Total	127.19	5.7	\$7,250				
VENDOR / BIDI	DER INFORMATION								
VENDOR: A	STAR ABATEMENT, INC.								
Signature:	Ros Pall	Date:	7-12-	6 /					
Olginataio:		Date.	1-12	<u> </u>					
CONTRACT CO	ORDINATOR INFORMATION								
Name: ROGER PRITT									
Address: P.O. BOX 13533									
SISSONVILLE, WV. 25360									
Phone Number:									
Email Address:_	Email Address: ROGER PRITT ON VERIZON. NET								

Note: Contract holders shall be required to pay prevailing wages for any county in which work is being performed.

ASBESTOS R	EMOVAL & DISPOSAL PRICING PAGE - REGIO)N 4 - Berkeley C	'ountr					
	725F-72	ON 4 - Berkeley County						
Qty. in Sq. Ft	Asbestos Removal and Disposal	Price Per Square Foot	Hourly Rate	Hours				
1,000.00	Removal & disposal of glue-down floor tile with mastic	\$ 2,50	156,25	Estimate / 6	* 2,500			
1,000.00	Removal & disposal of boller pipe insulation	\$ 2.80	155.55	18	\$ 2,800			
1,000.00	Removal & disposal of asbestos siding	\$ 1.75	145.83		\$ 1,750			
1,000.00	Removal & disposal of ceiling tile	\$ 1,40	175.00	8	\$1,400			
		Property Const		V				
Mob/De-mob	Mobilization / De/Mobilization	Firm Lump Sun	n Price		Total			
1	This cost shall be used in any subsequent contract for Region 4	\$ 600	100.00	6	s 600			
		Grand Total	150,83	60	\$ 9,050			
/ENDOR / BID	DER INFORMATION							
VENDOR:	ISTAR ABATEMENT, INC	<u> </u>						
Signature:(Roan Patt		7-12-0	· (
		. Date.	, , , , , ,	6				
ONTRACT CO	ORDINATOR INFORMATION							
lame: <u>Ro</u> (SER PRITT		***************************************					
Address: P.	0. BOX 13533	_						
SISSONVILLE, WV 25360								
hone Number:	304-984-4030	-						
mail Address:_	ROGERPRITT ON VERIZON	I. NET						

Note: Contract holders shall be required to pay prevailing wages for any county in which work is being performed.